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Chapter 4 
Chapter Test B

Multiple Choice

1.
B
2.
A
3.
B
4.
C

5.
A

6.
B

7.
D

8.
D

9.
A

10.
A

11.
D

12.
C

13.
B

14.
D

15.
A

Modified True/False

16.
F, biosphere
17.
F, independent
18.
T
19.
F, exponential
20.
T
Completion

21.
biotic potential
22.
extinction
23.
biosphere
24.
Habitats
25.
carrying capacity
Short Answer

26
The elephant population will likely decrease because there are fewer young elephants than old elephants.
27.
The bird might have a low biotic potential, even though it has adequate resources.
28.
Sea turtles exhibit a type III curve. Although sea turtles produce numerous offspring, many hatchlings die before they make it to reproductive age, while a higher percentage of older sea turtles will survive.

29.
Ecologists would have to rely on indirect observation to make an estimate. They could use tracks or other signs of the animals to make an estimate of the population size.
30.
(400 + 30) – (150 + 150) = 130 per 1000
Other

31.
A
32.
C
33.
population B
34.
The population will grow quickly, but surpass carrying capacity and crash.
35.
A
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